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in order to more easlly integrate! This is called the METHOD of PARTIAL
FRACTION PECOMPOSITION _—
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3 We will consider integrals involving RATIONAL EXPRESSIONS of the form
P(x)/Q(x), where P(x) and Qlx) are Polynomials (with the degree of P(x)
less than the degree of Q(x))

STEP 4_: FACTOR the denominator fully

STEP 2. Petermine the FORM of the PARTIAL FRACTION decomgosition depending
- on the types of factors in denominator. We will degf' with three cases:
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PY: With the new simplified form, you can proceed to INTEGRATE. If all went
accordingly you should be able to apply substitution or use arctan rule.

c——



PARTZ - Some

Ex |. Compute the following integrals using PARTIAL FRACTION PECOMPOSITION.
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MUIE'- We can treat cases where the degree of P(x) is greater than or equal to the

degree of Qlx) by using polynowmial long division. This is beyond the scope of
I the course.

2. Compute the following integrals:
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